E0.23.0609.04.00

2PE pump - Overview of the multiple pump assembly combinations available
Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Technical bulletin

COMPANY
WITH QUALITY S5YSTEM
CERTIFIED BY DNV

=150 9001/2000=

salam| ¥,




BOLLETTINO TECNICO 53Mami / /

TECHNICAL BULLETIN

El.23.0609.04.00

HYDRAULIC COMPONENTS

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Single pump - Main differences
Pompa singola - Principali differenze

Dim. A

Dim. B

3.2 3.9 4.5 6.5 83 | 105 | 11.3 | 125 | 13.8 16 19 225 26
Displacement cm3rev| 32 | 39 | 46 | 65 | 82 | 106 | 115 | 127 | 138 | 166 | 19.4 | 229 | 258
cuinjrev] 0.19 | 0.24 | 0.27 | 0.40 | 0.50 | 0.65 | 0.68 | 0.77 | 0.84 | 1.01 | 1.15 | 1.37 | 1.58
N mm 471 528 | / 635 | / | 635 | 74 | 80.4 | 858 | 916
2 P B Dimension A in 1.83 205 | / | 250 | / | 250 | 2.91 | 313 | 338 | 3.61
. mm 23.55 264 | / | 31.75| [/ |3175| 37 | 402 | 429 | 458
Dimension B in 0.91 104 |/ 123 | / | 123 | 144 | 156 | 1.67 | 1.78
o mm 471 499 | 528 | 56.35 59.7 635 | 675 | 756 | 81 | 86.8
2 P E Dimension A in 1.83 1.96 | 2.07 | 2.22 2.35 25 | 2.65 | 297 | 319 | 3.42
. mm 2355 24.95 | 264 | 2817 29.85 31.75 | 33.75 | 37.80 | 40.5 | 43.4
Dimension B in 0.93 098 | 1.04 | 1.11 1.17 1.25 | 1.33 | 1.49 | 1.59 | 1.71

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT

// Pag. 1



TECHNICAL BULLETIN

|
) I BOLLETTINO TECNICO
salam| //

HYDRAULIC COMPONENTS
El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump - 2PB old release
Pompa multipla - Vecchio tipo 2PB

312203128 Coupling O Ring 312203129

13 13 2 23
0512 (0512) H (1.02) H (0.906)

A H

N
|// A

MRAN
.

% N
1 Z 4 n 4
v @ 3 —~
B I 2R o, g > > €3
. \
L2 ‘
\
| -
| L | |
|\
- o | |
Front pump . ‘ : A Middle pump Rear pump This is the cover
1 2 1 of Salami standard
| 3 N e pump
This is a Salami standard pump, These units are pre-arranged for
all drive shafts have a splined end multiple pumps, they have the drive shaft code 61

Finally to assembly the multiple pump you need to order bolts of the right length
1 02 (3 =kit multiple pumps

Type 32 | 39 | 45 | 62 | 83 | M3 138 | 16 | 19 | 225 | 26
. . _ mm 16,5
Dimension A (flanges B2 - B3) in 0.65
. . mm 19
Dimension A (flanges P1-S82-B1) ", 075
. . mm 23,55 264 31,7 37 402 | 429 | 458
Dimension B in 0.91 2.10 1.25 146 | 158 | 169 | 1.78
D on H mm 471 52,8 635 74 804 | 858 | 916
imension in 1.85 2.10 2.50 291 | 316 | 338 | 361

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT

Pag. 2 //



BOLLETTINO TECNICO Sala mi //

TECHNICAL BULLETIN

HYDRAULIC COMPONENTS
El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump - 2PE new release
Pompa multipla - Nuovo tipo 2PE

Coupling
5.7 57 25
A H 0.22 H 0.22 H 0.98
B B B
% s N
3 R N
— - 7 = |

| - -
Z | V= =

) N
eSS0

ZO AN VA |

) : Middle pump Rear pump  This is the cover

of Salami standard
! 2 \ / pump

These units are pre-arranged for
multiple pumps, they have the drive shaft code 60

Finally to assembly the multiple pump you need to order bolts of the right length

Front pump

This is a Salami standard pump,
all drive shafts have a splined end

1 12 =kit multiple pumps

Type 32 | 39 | 45 | 65 | 83 105 | 113 | 125 138 | 16 | 19 |225| 26
_ _ ] mm 16,5
Dimension A (flanges B2 - B3) in 0.65
. . mm 19
Dimension A (flanges P1-S2-B1) ) 075
. . mm 23.55 2495 | 264 | 2817 29.85 3175 | 33.75 | 37.8 | 405 | 434
Dimension B in 0.91 098 | 1.04 | 1.11 1.17 125 | 133 | 149 | 159 | 1.71
b on H mm 47,1 499 | 528 | 56.35 59.7 635 | 675 | 756 | 81 | 868
imension in 1.83 196 | 207 | 222 2.35 25 | 265 | 297 | 319 | 342

// Pag. 3



TECHNICAL BULLETIN

saMa mi / / BOLLETTINO TECNICO

HYDRAULIC COMPONENTS

El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump - 2PB with 2PE and/or 2PE with 2PB
Pompa multipla - 2PB con 2PE e/o 2PE con 2PB

26

3122 031 28 102 3122 031 29

ot

Kit code R120 3003 0 is composed of 2 plates, the body o-ring(BUNA)
and a special coupling(the plates are the same of the kit for multiple pump 2PB with 2PB)
I kit R120 3003 0 ¢ composto da 2 piastre, un o-ring(BUNA), pit uno speciale manicotto
(le due piastre sono le stesse del kit pompa multipla 2PB con 2PB)

\

For customers that have the plates in stock, the coupling's ordering code is 3120 025 06
Per i clienti che hanno a magazzino le piastre sopracitate, il codice di ordinazione
del manicotto é 3120 025 06

1)

s
9 145" HI1
A
AA)

#13,9 hit (1,

¥.5%

Kit code R120 3003 1 is composed of 2 plates, the body o-ring(VITON)
and a special coupling(the plates are the same of the kit for multiple pump 2PB with 2PB)
Il kit R120 3003 1 é composto da 2 piastre, un o-ring(VITON), pit uno speciale manicotto
(le due piastre sono le stesse del kit pompa multipla 2PB con 2PB)

Pag. 4 //

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT



TECHNICAL BULLETIN

BOLLETTINO TECNICO Sala mi //

HYDRAULIC COMPONENTS
El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

26
[1,82]
NNZZN!
HF%E Al e WS
=/ - ]
)

In order to maintain a continuity, during the transition phase 2PB-2PE, especially in the multiple release,
we are able to supply the kit code 4120 3002 1.The customers who have serious difficulty, replacing
multiple 2PB with multiple 2PE, caused by the different distance between the flange plane and the port axis,
using this kit they can keep down the gap.

Al fine di mantenere la massima continuita, durante la fase di transizione 2PB-2PE, specialmente nelle
versioni pompa multipla, é disponibile il kit 4120 3002 1./ clienti che incontrano serie difficolta nel rimpiazzare
multiple 2PB con multiple 2PE, a causa dei diversi interassi tra piano flangia e asse bocca,
usando questo kit possono contenere le differenze.

56.8
[2,24]

#13.89 hil
[0,55]

Longer coupling code 3120 025 09.
Mozzo lungo codice 3120 025 09.

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT
/ 2 Pag.d



TECHNICAL BULLETIN

saMa mi / / BOLLETTINO TECNICO

HYDRAULIC COMPONENTS
El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump - 2.5PB with 2PE
Pompa multipla - 2.5PB con 2PE

30 16.5
1.18 0.65
OR 2-035 AT
7991 035 11
NS )
'[ : - Vb ; 1) n.1 coupling
- L rr” g s 2) n.1 plate 2PE side
= et —| | 3) n.1 plate 2.5PB side
==y =4 | |
4 . = 1 ; 1) n.1 giunto di collegamento
| I{ 2) n.1 piastra lato 2PE
‘ D | 3) n.1 piastra lato 2.5PB
N L
[ W W }
] L
L o

u MULTIPLE
‘ GEAR PUMPS Kit code R138 8015 0

with inlet port
"""" il on each body

% % ‘ MULTIPLE 0
GEAR PUMPS
with common inlet port* Kit code R138 8015 1 WASHER 1

7952 452 51
L J:—— anti-clockwise rotation  (ROSETTA)

ﬁ

SCREW M6x20
7906 085 40
(VITE TCEI M6x20)

% % ‘ MULTIPLE O
GEAR PUMPS
with common inlet port* Kit code R138 8015 2

L Jj, clockwise rotation

WASHER
7952 452 51
(ROSETTA)

AN

SCREW M6x20
7906 085 40
(VITE TCEI M6x20)

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT
Pag. 6 / 7



BOLLETTINO TECNICO
TECHNICAL BULLETIN

El.23.0609.04.00

salami/ g

HYDRAULIC COMPONENTS

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump - 3PB/2PE tandem kit std.
Pompa multipla - 3PB/2PE tandem kit std

Multiple pump - 3PB/2PE tandem kit for North America

7
3
7
8
3

Kit code R129 9290 0 is composed of:
1) n.1 coupling

2) n.1 plate 3PB/2PE

3) n.4 screws TCEI M8x35 UNI5931
4) n.1 washer 41x36.5x0.5

5) n.4 washers 8.4x14x1.6

6) n.1 o-ring 2-127

I kit R129 9290 0 é composto da:
1) n.1 giunto di collegamento

2) n.1 piastra 3PB/2PE

3) n.4 viti TCEI M8x35 UNI5931
4) n.1 rondella 41x36.5x0.5

5) n.1 rosetta 8.4x14x1.6

6) n.1 o-ring 2-127

Kit code R129 9290 1 is composed of:
1) n.2 reference pins

2) n.1 coupling

3) n.1 plate 3PB/2PE

4) n.4 screws TCEI M8x35 UNI5931
5) n.1 washer 41x36.5x0.5

6) n.4 washers 8.4x14x1.6

7) n.1 o-ring 2-127

8) n.1 flange commercial code P1

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT

// Pag. 7



TECHNICAL BULLETIN

|
) I BOLLETTINO TECNICO
salam| //

HYDRAULIC COMPONENTS
El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump 3PB/2PE assembling dimensions
the tandem kit dimension of 1.57 inch doesn't change,
for the dimensions C - D, pls. see the table here below,

for the dimensions A - B see page 1.

Pompa multipla 3PB/2PE dimensioni d'assieme

la quota 40 mm del kit di accoppiamento non cambia
per le quote C - D vedi tabella sotto
per le quote A - B vedi pagina 1

2 . 0 . %
087 Dim. C 157 Dim. A 094

) no
Dim. D 080T

087

2

T @D o

Dim. B

Type 21* 27 33 38 46 55 65 75*
Displacement cm?3/rev 20.6 27 33.5 38.7 46.9 54.1 63.1 73.4
cuinsrev| 126 | 165 | 204 | 236 | 28 | 330 | 385 | 448
N mm.| 74 79 92 96 114 120 127 134
Dimension C in| 291 3.11 3.62 3.78 4.49 472 5.00 5.27

N mm.| 37 395 46 48 51 54 575 61
Dimension D in| 146 1.56 1.81 189 | 201 213 | 226 | 240

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT
Pag. 8 / 7



BOLLETTINO TECNICO
TECHNICAL BULLETIN

El.23.0609.04.00

salami/ 7

HYDRAULIC COMPONENTS

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump - 3.5PB/2PE tandem kit std.
Pompa multipla - 3.5PB/2PE tandem kit std

Multiple pump - 3.5PB/2PE tandem

Kit code R114 9250 0 is composed of:
1) n.1 coupling

2) n.1 plate 3.5PB/2PE

3) n.4 screws TCEI M8x35 UNI5931
4) n.1 washer 41x36.5x0.5

5) n.4 washers 8.4x14x1.6

6) n.1 o-ring 2-127

Il kit R114 9250 0 é composto da:
1) n.1 giunto di collegamento

2) n.1 piastra 3.5PB/2PE

3) n.4 viti TCEI M8x35 UNI5931
4) n.1 rondella 41x36.5x0.5

5) n.1 rosetta 8.4x14x1.6

6) n.1 o-ring 2-127

kit for North America

Kit code R114 9250 1 is composed of:
1) n.1 coupling

2) n.1 plate 3PB/2PE

3) n.4 screws TCEI M8x35 UNI5931
4) n.1 washer 41x36.5x0.5

5) n.4 washers 8.4x14x1.6

6) n.1 o-ring 2-127

7) n.1 flange commercial code P1

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAMLIT

// Pag. 9



TECHNICAL BULLETIN

|
) I BOLLETTINO TECNICO
salam| //

HYDRAULIC COMPONENTS
El.23.0609.04.00

Object: 2PE pump - Overview of the multiple pump assembly combinations available
Oggetto: Pompa 2PE - Panoramica sulle combinazioni di assemblaggio pompa multipla disponibili

Multiple pump 3.5PB/2PE assembling dimensions
the tandem kit dimension of 1.77 inch doesn't change,
for the dimensions C - D, pls. see the table here below,

for the dimensions A - B see page 1.

Pompa multipla 3.5PB/2PE dimensioni d'assieme

la quota 45 mm del kit di accoppiamento non cambia
per le quote C - D vedi tabella sotto
per le quote A - B vedi pagina 1.

% ) I3 ) %
102 Dim. C 177 Dim. A 0.94

<
|
S
o
| r%

N
-
|
o
!
|
|
|
% | R
|
«

A Dim. B

Type 55 64 75 87 98*

. cm3/rev. 54.8 63.2 747 88 99
Displacement cu.in.rev. 3.34 385 4.55 5.36 6.03
D on C mm. 165 177 184 192 197
Imension in. 6.49 6.96 7.24 7.55 7.75

. . mm. 80 86 89.5 935 9
Dimension D in. 3.14 3.38 352 3.68 377

FOR MORE INFORMATION PLS. VISIT OUR WEB SITE: WWW.SALAML.IT
Pag. 10 //



salam| ¢ g

SALAMI spa

via Emilia Ovest 1006

41100 Modena Italy

telefono +39-059-387411

telefax +39-059-387500
export@salami.it - www.salami.it

salam| ¢
1TaLl II /
SALAMI ITALIA srl

strada Pelosa 183

S. Pietroin Trigogna VI Italy
telefono +39-0444-240080
telefax +39-0444-240204
salami.talia@salami.it

salamj ¢
Eseai I.I /
SALAMI ESPANA

Poligono Industrial Armenteres
C/Primer de Maig, 18, Nave 4
08980 San Feliu de Liobregat
Barcelona

telefono +34-93-6327288
telefax +34-93-6667826
info@salamispain.com

salamj %y

FRANEE

SALAMI FRANCE

22, rue Louis Saillant
69120 Vaulx en Velin

Lyon

telefono +33-04-78809941
telefax +33-04-78803669
e.pasian@wanadoo.fr

]
salam| %
Hydraulics, N.A.

SALAMI HYDRAULICS N.A INC
Loop Road

Baldwinsville

NY 13027 - USA

Tel.: +1-315-295-2363

Fax.: +1-315-295-2364
info@salamihydraulics.com




	copertina2.pdf
	Page 1

	copertina1.pdf
	Page 1


